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Use the buckling graph to determine a suitable cylinder type to lift the car/sling & load. This graph will also dictate the loaded static pressure.

For Example:

The buckling graphs indicate that the most suitable cylinder is a 80 and the loaded static pressure is 43 bar.

I want the lift to move at approximarely 0.8 m/s.

(1) Locate the cylinder type first - 80. (2) Move vertically down the column to the nearest speed shown to what is required, I want 0.8 m/s so the nearest available

would be 0.8 m/s. (3) The pump size is determined by moving horizontally left across the row to the far left column, which gives a pump size of 125 Ipm. (4) The motor
size is determined by moving horizontally right across the row until you are vertically below the loaded static pressure of the lift - 43 bar, which gives a motor size of 16kW.
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Use the buckling graph to determine a suitable cylinder type to lift the car/sling & load. This graph will also dictate the loaded static pressure.

For Example:

The buckling graphs indicate that the most suitable cylinder is a 110 and the loaded static pressure is 39 bar.

I want the lift to move at approximarely 0.5 m/s.

(1) Locate the cylinder type first - 110. (2) Move vertically down the column to the nearest speed shown to what is required, I want 0.5 m/s so the nearest available

would be 0.52 m/s. (3) The pump size is determined by moving horizontally left across the row to the far left column, which gives a pump size of 150 Ipm. (4) The motor
size is determined by moving horizontally right across the row until you are vertically below the loaded static pressure of the lift - 39 bar, which gives a motor size of 16kW.
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